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It teaches us by saying a2 — a2 Y TIAbn

OVERVIEW
The &n™2 cites two 2’2109, From the 7109 of 'av 7v we derive that a 2'n>w may
only be eaten until the end of day two but it is forbidden to be eaten 3 21°% 7K, and
from the 012’ p109 we derive that it is burnt on the third day; not in the night
(preceding it). mo0IN explains that both o°P105 are necessary.
*

mooIn asks:

— 09 7Y PIVNN INNDN NN
It is astounding! Why is necessary for the 7710 to write the words 21 T¥ to teach us

that a 2°n%w 1277 may not be eaten 3 217 MKR?!
— DA PAVYINTI FWITYY NN YINY 1INT 1Y 919N

It can be derived, that a o°»n5v is not eaten 's» =X, from the fact that it was

necessary for the 770 to write the word 21%2 to teach us that it is not burnt during the
night (of '3 212 MK).

mooin will explain how we can derive that it is 'X? 7R 29831 1K from 'D1a":
—>n1959Y N999NY 99507 1YY IMND NIV NINT ROV YINIT TNYT NPYD INT

For if you will assume that it may be eaten '3 019 7K, then the on%w can
certainly not be burnt on that very same night (that it is eaten), for the rule is

that a 7279 is burnt immediately after the time of eating has expired. The fact that it is
necessary for the 70 to preclude burning the 12799 on '3 0% MK, indicates that it may not be
eaten at that time. The question remains why is it necessary to derive the 72°9% M0°X on 3 21 X
from '1 7¥' when it can be derived from '01°2".

MO0 answers:
— DN NN NN O 1Y INY INT 99Y vN

And one can say; that if not for the 7»°% of 'a 7', I may have thought that the
09w can be eaten '35 T -

$19 59NN YW NYYYA G9Y XY S0IWNY 0193 TPIVIIN)
And the p109 of 'ara’ is necessary to exclude, that the 3277 may not be burnt the
following night ('7 2% "), but indeed it is not necessary to teach us that it may not be burnt

! 1,00 (2°w17R) RIpM. The P00 reads: 77w w2 SWOOW A1 TV IMIT NITANY 7IR° DT O3,
2 7,1 (%) X7p"1. The p1od reads: 77w wRa WILWI 212 MANT WA NI,
? See “Thinking it over’
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"\ 0% TX; for since it is 77°282 2N, obviously it cannot be burnt. Therefore the 771N wrote TY'
"o to inform us that the °»%W may not be eaten '3 01°% TIX.

SUMMARY

If not for the 05 of o1 7v we would have thought that the 012 7109 comes to
prohibit burning o°w7p at night, and we would not have known that a 2»>w may
not be eaten '3 D12 TIX.

THINKING IT OVER

When nooin asks that it is obvious that it cannot be eaten '3 01°2 X since we need
a vn that it is not to be burnt then, MdoIN explains that it is obvious (that it
cannot be burnt) since 79°W 77°9X% 73°n. Seemingly Moo could have simply said
that 779°2X 712 there can be no 79> since it is not M3, or something similar. Why
the expression 79°w 72°98% A2°n?!°

* The 77 is teaching a general rule that 2°w7p should not be burnt at night (only by day) even if it was not burnt on
's o1 for whatever reason. In actuality there is a npY2n» (in 2,29 NM2°) between 13M° 'Y who maintains that after the
initial 79> 211 which is 0173, it can later be burnt by day and by night, and 7192X "7 who maintains that it can never
be burnt at night (even later). It is possible that according to the X1p0n of our X3 that 012 comes to exclude 'x? X
from 179w, but on 77 7K or later you may burn it (at night) as 111 " maintains.
5 See: 3 7w WX Moo and '3 2 MR A"1T2 TIRT R"WAN.
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